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OJthi3del St 4,000,000 4,000
202 04| 8,100 9,000 A900
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Al 21,000
14 IIEt2 8= 30,000 34,000 24,000
OO0 E0IS &3 & 30,000,000& 30,000
= 9,000
Al 21,000
HLANAEE DIT22 SR (HEAY)(2X 3,000 28,000 8,000
)
== 18,000
Al 18,000
307 212+01& 36,000 28,000 8,000
< 18,000
Al 18,000
02 LB HAHE L 36,000 28,000 8,000
Ol HAEZ= NED2)H 2HF
36,000,000& 36,000
= 18,000
Al 18,000
SHf =LA U X2 14,607 15,069 N462
201 fer= 3| 8,949 8,949 0
01 At 2t 8,949 8,949 0
O ==H] 3,616
Oce==4t HRFA 1,000,000 1,000
Odfl=at Al EENZ M
1,500,000 1,500
O=&HHE AIFANE e HRFA
1,116,000 1,116
O=2g=g 2,520
OUIEHEIH A3 E44E
2,520,000& 2,520
O=&tl 2,813
Odfj =4t HEFA 2,813,000& 2,813
202 04| 4,158 4,620 A462
01 =LHOLI 4,158 4,620 A462
Ol 2=t R 2,158,000& 2,158
OAZAE = & SDH0la &8 =8
2,000,000& 2,000
307 gl2to| & 1,500 1,500
02 2B YAIHE A 1,500 1,500
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1,500,000 1,500
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= 2,500
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HYEMEEZ(EX) 9,000 10,080 21,080
& 2,700
Al 6,300
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& 2,700
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01 AR2teld| 9,000 10,080 21,080
O er=2| 9,000
ogel M=EE= 9,000,000& 9,000
= 2,700
Al 6,300
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& 3,600
Al 8,400
402 QI2E X201 ™ 12,000 0 12,000
& 3,600
Al 8,400
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& 3,600
Al 8,400
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= 26,040
& 3,348
Al 7,812
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A 623
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& 800
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A 623
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. 80
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= 9,600
Al 22,400
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Al 23,940
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T 10,260
Al 23,940
2 REAE XNE(EX) 13,300 44,800 31,500
& 3,990
Al 9,310
| 13,300 44,800 31,500
& 3,990
Al 9,310
02 QIZIXIEMSEX(OIXMTHE) 13,300 44,800 31,500
= SSAE X 13,300,000& 13,300
T 3,990
Al 9,310
StAIE KR (BExX) 60,000 60,000 0
= 18,000
Al 42,000
| 60,000 60,000 0
& 18,000
Al 42,000
KEAILE X (01 THH) 60,000 60,000 0
L&A HAIE X
60,000,000& 60,000
T 18,000
Al 42,000
FAIE EHIXI2(HEAIE ) (B X) 24,000 35,200 11,200
= 15,000
Al 9,000
| 24,000 35,200 211,200
& 15,000
Al 9,000
ANSEE(OIETE) 24,000 35,200 A11,200
NSSAIE JHl X3
24,000,000& 24,000
= 15,000
Al 9,000
29X JIX| XA (EX) 36,720 36,720 0
= 14,683
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=S 14,400
Al 21,600
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44101 BOUR DI KIR(0jDIZol%
&) 36,000,000 36,000
< 14,400
Al 21,600
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= 9,500
Al 22,167
307 el2to| & 31,667 20,000 11,667
= 9,500
Al 22,167
02 QB AANEE R 31,667 20,000 11,667
0442 AHISE 2435 X2
31,667,000& 31,667
[ 9,500
Al 22,167
LAZ ADIE 22IAAE AH(EX) 5,220 7,260 £2,040
= 1,566
Al 3,654
402 I+ X=01 & 5,220 7,260 22,040
= 1,566
Al 3,6%4
02 QI XHE AL E R (01X THE) 5,220 7,260 A2,040
OLAT ADE BDRIAAE 7S
5,220,000& 5,220
< 1,566
Al 3,654
Met=alet 36,500 0 36,500
201 er23| 35,000 0 35,000
01 At2teltl 35,000 0 35,000
O eS| 33,000
OMBts &g 2 &8 2f =4
20,000,000& 20,000
OANRES & 2258 7Y
2,000,000 2,000
OE2X= M 4,000,000 4,000

_9_




A oHreernt

S AnE je 2 HRES
el et (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Oz=9 Uiz (Zad, g0n2) M
5,000,000& 5,000
OHPHOl MY U Ho| R KIS
2,000,000 2,000
O=¢&H| 2,000
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01 =LHA LI 1,500 0 1,500
O2gd &2 g2 =M 1,500,000& 1,500
LAlAE HAK el K (EX) 24,000 0 24,000
= 9,000
= 4,500
Al 10,500
402 2I2F X201 & 24,000 0 24,000
= 9,000
= 4,500
Al 10,500
02 QI X2 AL EE(OIETHE) 24,000 0 24,000
O2A =42 HANM XMel X2
24,000,000& 24,000
= 9,000
< 4,500
Al 10,500
LA HASTAL X (EX) 3,000 0 3,000
= 900
Al 2,100
301 LEtE N = 3,000 0 3,000
= 900
Al 2,100
14 JIEt2a3 3,000 0 3,000
AT SASTAL XA 3,000,000& 3,000
== 900
Al 2,100
FOoHot HDIE HEMB(EX) 148,000 0 148,000
J| 74,000
== 37,000
Al 37,000
101 e124d| 144,000 0 144,000
Il 72,000
= 36,000
Al 36,000
04 JIZtN2Z2XNSE+ 144,000 0 144,000
OF efoliet Hol=2 HWSAY
144,000,000 144,000
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=S 36,000
Al 36,000
201 2= 4,000 0 4,000
Il 2,000
= 1,000
Al 1,000
01 At 2|l 4,000 0 4,000
OF foliet Hol= USAE 289
4,000,000 4,000
Jl 2,000
= 1,000
Al 1,000
YA FHI(GHreermt) 17,400 18,600 1,200
D=2 Bl (o1 reert) 17,400 18,600 21,200
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01 =LHAHI 14,400 15,600 1,200
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